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Liqueur Dosage Trial

1) Dissolve 10 g of sugar in 100 mL of riddled wine. First dissolve in 60 mL of wine and MAKE

UPTO 100 ml

This solution would have a concentration of 100 g/L
2) Using law of mixing:

Weight of sugar in stock added = Weight of sugar in total end volume of wine

(Concentration= weight/volume)

C=W/V

Therefore, if W1 =W,

Ci1 V=G V,

Stock to be added = Desired Solution

100g/LxV1=1g/Lx 100 mL

Vi=1mL

This way
You can make 100mL trial volumes

3) Add 2 mL dosage to 100 mL wine to get 2 g/L
4) Add 3 mL dosage to 100 mL of wine to get 3 g/L.

Setting up trials:

1. Make up 3 to start with maybe 0, 6 and 12 g/L of dosage.
Each person rank the dosage

3. Do another trial adjusting for preferences with an option of 3 again and rank by preference.
The decide the final dosage level.

Labeling terms:

Brut nature, pas dosé, zéro dosage: 0-3 grams per litre, and no sugar added
Extra brut: 0-6 g/I

Brut: 0-12 g/I

Extra dry: 12-17 g/I

Sec / Dry: 17-32 g/I

Demi-sec: 32-50 g/I

Doux:> 50 g/I



Dosage calculations:

Option A: Liqueur

Liqueur= sugar + wine
lkginll
Accounting for expansion 1 kg in 1 L causes 0.63 L expansion
Concentration= 1kg/1.63L= 613 g/L

1) Use same wine as dissolved, it’s okay if it doesn’t dissolve completely
2) Add SO;the next day

Example: If youwant 6 g/L of dosage
Sugar weight in stock = sugar weight in bottle

Stock required Bottle desired
C1V1 = Cz Vz
613 g/LxV1=6g/Lx 750 ml

Vi=7.3mL

Option B: RCGM

1) Concentration = 844 g/L
2) Available as 17L, 20L, 93 L and 1000 L
3) Check visually for crystals of tartrates

Calculations:
Example: If you want 6 g/L of dosage
Sugar weight in stock = sugar weight in bottle
Stock required Bottle desired
CiVi=C V2
844g/LxV;=6g/Lx 750 ml

Vi=5.3mL

Process:

1) Add required dosage directly to bottle
2) Make up to 750 mL



Sulphur Addition Calculations:

Option A: Addition of Sulphur made to Liqueur

1. If targeting 40 mg/L total
2. Thatis 30 mg/bottle
3. If we have chosen to add 5 ml/bottle of liqueur

And say | am making 5 L of liqueur.
Stock required Bottle desired
CVi=C V;
C1x 5 ml=40 mg/Lx 750 ml
C1= 6000 mg/L of SO, is required.

6000 mg/L of SO,= 6 g/L of SO,

But remember, only about 50% of the KMS is SO;
KMS required= 6g/L x 2 = 12g/L

Total KMS required = 12g/Lx5L=60g

Option B: Directly adding ammonium sulphite to bottle.

1. Ammonium Sulphite — 15% (this is the same as 150 g/L or 150,000 mg/L)
2. Targeting 30 mg/L of SO,
3. 0.15 mL of solution made up to 750 mL

Stock required Bottle desired
C\Vi=CV;
150,000 mg/L x V1= 30 mg/L x 750 ml

V1=0.15 ml

0.15 ml of ammonium sulphite is required per bottle
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RCGM is a liquid sugar solution that contains exactly 844g/L of sugar. Adding 10ml of
RCGM to a 750ml bottle of wine results in 11.25g/L of sugar in the finished wine. If you add
8ml of RCGM to the bottle, you get 9g/L of sugar, and if you add 6ml, you get 6.75g/L.

To achieve a desired rate of 30ppm of sulfur dioxide (SO2), you can use IOC liquid
Ammonium Sulphite 15% solution. Adding 0.15ml of this solution to a 750ml bottle will
give you 30ppm of SO2.

To calculate the amount of RCGM and SO2 you need for a batch of wine, you need to know
the desired dosage level. For example, if you want to achieve a dosage level of 10g/L of
sugar in the finished wine, you need to add 9ml of RCGM to each bottle. This results in
10.13g/L of sugar in the finished wine.

To disgorge 1000 bottles of wine at this dosage ievel, you need 9L of RCGM. To add 30ppm
of SO2 to each bottle, you need to add 0.15ml of the 15% ammonium sulphite solution. This
means you need 150ml of the solution for 1000 bottles.

If you want to adjust the dosage level, you can do so by adjusting the amount of RCGM
added to the bottle. For example, if you want to achieve a dosage level of 12g/L, you can
increase the RCGM addition from 9ml to 11ml. This will result in a higher level of SO2,
around 35ppm. If you want to achieve a dosage level of 8g/L, you can reduce the RCGM
addition to 7ml, resulting in a lower level of SO2, around 24ppm.

Using the same RCGM and SO2 solution for different wines is convenient and avoids the
need to mix up separate batches, which can be time-consuming and unnecessary.

Historical Dosage (g/L)

Brut NV 7 Cuvée 8
Blanc de Blanc NV 9 Bland de Blanc 8
Rosé NV 8>11 | Rosé 8>11

Blanc de Noirs | 6>9



